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Time: 3 hrs. & 7 Max. Marks:100
Note: Answer any FIVE fulﬁﬁuestions, selecting

at least TWO quéstions from each part. e
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i) IfSW=0, thg@%@pper motor rotates clockwise & N
ii) If SW = 1,the stepper motor rotates,counter clockwise ‘(A%W)
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& PART - A

g 1 a Explain with a neat block diagram architecture of 8051 microcontroller. (12 Marks)
= b. Explain Harward and Von—Neu@ﬁi%lgﬁCPU architectures w@}};ﬁ*ﬁte%essary diagrams. (08 Marks)
T 2 a Explain the different addressing modes supported by 805} ue with an example for each.

5 w & AN (10 Marks)
%% b. Correct the following instructions if found to have §7 wrong syntax. Explain the operation
&3 of the corrected instructions: )

EE) (i) MOVxRO, @R}% (i) MOV A, #B# (iii) MOV 77h, A8H

gn I} (iv) XCHG A1;R2" (v) ADD A, @B, (10 Marks)
£4 . o CaY

% T?:” 3 a Writea pmgraril that computes the numbérw}bf zeros in the following 16-bit stream:

2§ 0101101001011010 (10 Marks)
£ ‘§ b. Assume imer 1 is operating in=mode 1. It is required to schedule a new task after
g 2 0.05 sécond. If the timer oscillator, 6perates at 10.0 MHz,"how should the timer registers be
= é configured for this operation. . (10 Marks)
§ = y 4 e ! = 4

—;: g 4 a Draw the internal structure of port ‘0’ and expgfai@ﬁits operation. &@i p, (10 Marks)
&2 b. Write a ‘C’ program ‘itdfinonitor the stat v&:@f»a switch ‘SW’ cennected to pin P2.7 and
S 5 perform the following: e P —
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8§ a Assume that a 60 Hz external clock is being fed into pin T1 (P3.5). Write an 8051 C
program for q@qﬂi@r 1 in mode 2 to display the seconds and minutes on Pl and Pz

Use the wave drive 4-step sequence, * - (10 Marks)
@ § 5 & (10 Marks)
23 b. (10 Marks)
§E 6 ‘How many types of serial communications re? Name them and explain each type.
& S,) i K (10 Marks)
B2 “ Write a prog)ram&f:*owserially transm@fgﬂgthe message ‘GOOD’ continuously at a baud rate of
§ z 9600, 8-bit data:and 1 stop bit. | . (10 Marks)
o = S i 4 .
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o 7 a. With a neat block diagram, explain the architecture of MSP 430 p controller. (10 Marks)
- b. Explain with an example of MOV instruction the different addressing modes of MSP430.
5 Y (10 Marks)
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respectively. £ (10 Marks
b. Explain the importance of TI and RI flag used in serial data transfer. (10 Marks
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